



Some Examples of Strategic Information Transmission

- Managers Inflating Earning Prospectives
 - "My personal belief is that Enron stock is an incredible bargain."
 - "We will hit our numbers." ~Kenneth Lay
- Grade Inflation
- Teacher Cheating Student Tests
- Government-Expert
- Doctor-Patient
- Congress Floor-Committee

















Display Bias vs. Hidden Bias

Display Bias Design

- Two subjects faced each other 45 rounds
 Repeated game effect
- 2. Bias is sufficient
 - No need to look at the payoff table
- Payoffs are the same
 Memory effect?
- Hidden Bias Design
- Three pairs randomly matched in 45 rounds

 Minimize repeated game
 - effect
- Sender can't see Bias
 Force to look at payoffs
- Payoffs perturbed with noise ~{-4,...,+4}

Vary across rounds

Research Question

- What is the behavior (choices)?
 How does a Level-k model of heterogeneous beliefs explain this data?
- How does subject behavior (choices) match with eyetracking lookup patterns and pupil dilation?
 - Do they support level-k model assumptions?
- Can we predict lies before they happen?



Choices: Theoretical Predictions

- Game theory:
 - b=0 truth-telling; if S, announce M=S
 - b=1 S=1 should announce M={1}
 - S=2,3,4,5, should announce M={2,3,4,5}
 - b=2 "babbling", should announce M={1,2,3,4,5}
- Comparative Statics with respect to bias b: – Information transmission decreases with b

Choices: Theoretical Predictions

- Level-k Model:
 - Start with anchor type L0; higher types best respond (BR) to lower types
- L0:
 - L0 sender: Tell the truth
 - L0 receiver: Follow message (BR to L0 sender)
- L1:
 - L1 sender: Inflate message (BR to L0 receiver)
 - L1 receiver: Discount message (BR to L1 sender)

Choices: Theoretical Predictions

- L2:
 - L2 sender: BR to L1 receiver
 - L2 receiver: BR to L2 sender
- Eq: (=L3 in this game)
 - Eq sender: BR to L2 receiver
 - Eq receiver: BR to Eq sender
- SOPH:
 - BR to the empirical distribution of opponent behavior (know distribution of types...)

Choices: Theoretical Predictions

- In this game, L3 and above are all Eq types

 May not be true in general
- Comparative Statics with respect to bias b: – Information transmission decreases with b
- However, even when standard game theory predicts babbling (b=2), the Level-k model still allows positive information transmission

 Lower types still send informative messages



Choices: Results

- Aggregate information transmission decreases as bias b increase
 - Correlation between (S, M), (M, A), and (S, A)
 - Receiver Payoffs ("Economic value", but can be game specific)
- Individual choices are consistent with a Level-k model [Display Bias / Hidden Bias]
 - Hidden Bias: (L0,L1,L2,Eq,SOPH) = (1,4,3,4,4)
 Display Bias: (L0,L1,L2,Eq,SOPH) = (4,3,4,1,1)

[Display Bias / Hidden Bias]							
BIAS	r(S, M)	r(M, A)	r(S, A)	Predicted r(S, A)			
0	0.99	1.00	0.99	1.00			
0	0.93	0.92	0.86	1.00			
1	0.73	0.74	0.72	0.65			
1	0.64	0.71	0.49	0.65			
•	0.63	0.57	0.59	0.00			
2	0.34	0.58	0.32	0.00			
	0.34	0.58	0.32				

Table 3: Sender & Receiver's Payoffs [Display Bias / Hidden Bias]								
BIAS	BIAS u_S (std) u_R (std) Predicted u_R (std)							
0	109.14 (4.07)	109.14 (4.07)	110.00					
0	101.30 (17.28)	101.27 (17.69)	(0.00)					
1	93.35 (20.75)	94.01 (19.86)	91.40					
I	73.28 (37.46)	86.88 (27.59)	(19.39)					
	41.52 (49.98)	85.52 (25.56)	80.80					
2	43.31 (52.79)	80.55 (27.57)	(20.76)					
and a second								













Table [I	Table 4: Level-k Classification Results [Display Bias / Hidden Bias]						
Level	Display Bias	Hidden Bias					
LO	#1, #2, #3, #7	#6-3					
L1	#4, #9, #10	#1-2, #2-1, #4-1, #5-1					
L2	#8, #11, #12	#1-3, #5-2, #6-1					
Eq	#6	#2-2, #3-3, #4-3, #5-3					
SOPH	SOPH #5 #1-1, #2-3, #3-2, #6-2						
Note: #3-1 is unclassified; #4-2 dropped due to technical difficulty.							

ר	Table 5: Sender Lookup Time (sec.) [Display Bias / Hidden Bias]							
BIAS	BIAS Response Time 1-15 31-45 State Bias Sender Receiver Receiver Ratio							
0	5.42 9.78	2.39 7.24	0.65 0.83	0.41	0.73 2.93	0.27 1.71	2.70 1.71	
1	7.92 11.77	5.44 8.76	1.47 0.81	0.99 -	2.29 3.80	1.05 2.66	2.18 1.43	
2	9.73 16.84	8.12 8.99	1.72 0.91	1.52	3.03 4.67	1.50 3.26	2.02 1.43	
all	8.07 13.47	5.25 8.52	1.34 0.86	1.02	2.14 3.99	1.00 2.72	2.14 1.47	
	ALL A MALEN							

Table 6: Lookup Time per Row (sec.) [Display Bias / Hidden Bias]								
BIAS	BIAS True State Rows Other Rows True-to-Other Ratio							
	0.54	0.11	4.91					
0	2.76	0.47	5.87					
1	2.06	0.32	6.44					
1	3.88	0.64	6.06					
2	2.24	0.57	4.28					
2	4.29	0.91	4.71					
-11	1.71	0.36	4.75					
an	3.83	0.72	5.32					
A.1. 4								











Pupil Dilation

• Pinocchio's Nose?

1.1

- The more you lie, the wider your pupil
- Subjects' pupil sizes before and after their decision are larger if they exaggerate more
 - Random effect with "robust" standard errors (correct serial correlation and heteroscedasticity)
- More so for Display Bias than Hidden Bias
 Maybe "Hidden Pies" release "baseline" dilation
 - Maybe "Hidden Bias" raises "baseline" dilation...

Table 7: Pupil Size Regressions [Display Bias]

PUPIL	secs	(-1.2, -0.8)	(-0.8, -0.4)	(-0.4, 0.0)	(0.0, 0.4)	(0.4, 0.8)	
Constant	α	99.59	99.78	104.62	111.81	109.95	
		(2.45)	(2.41)	(2.19)	(1.84)	(2.07)	
LIE_SIZE	β_{10}	1.20	6.41	3.92	-3.91	0.58	
* BIAS		(3.21)	(6.38)	(3.06)	(2.76)	(7.36)	
interactions	β_{11}	2.79*	3.40**	3.28**	4.55***	4.20***	
		(1.19)	(1.17)	(0.97)	(0.86)	(0.73)	
	β_{12}	3.49***	3.71***	3.04***	2.90**	3.28**	
		(0.99)	(0.98)	(0.84)	(0.87)	(0.90)	
Note: t-Test p-values lower than *5%, ** 1%, and *** 0.1%.							
* • *							

Table 7: Pupil Size Regressions [Hidden Bias]								
PUPIL	PUPIL _i secs (-1.2, -0.8) (-0.8, -0.4) (-0.4, 0.0) (0.0, 0.4) (0.4, 0.8)							
Constant	α	107.27	108.03	106.19	109.56	108.67		
	(2.81) (2.55) (2.57) (2.05) (2.16)							
LIE_SIZE	$\beta_{\rm 10}$	2.83	2.36	3.07	5.35**	5.57*		
* BIAS	* BIAS (1.85) (2.22) (2.46) (1.16) (2.19)							
interactions	β_{11}	-1.02	-0.46	-0.36	2.16^	2.64*		
		(1.26)	(1.31)	(1.28)	(1.21)	(1.15)		
	β_{12} 2.06* 1.52^ 1.47* 1.83* 2.00**							
(0.86) (0.79) (0.75) (0.74)								
Note: t-Test p-values lower than ^10%, *5%, ** 1%, and *** 0.1%.								



Table 8: Predicting True State								
Much Stronger								
Y	Displa	y Bias	Lookup	Lookup Effect				
MESSAGE*B Message	0.64*	(0.22)	0.46**	(0.12)				
MESSAGE*B Sent	0.91**	(0.23)	0.42**	(0.09)				
$ROW_{self} * BIAS=1 \beta_{31}$	0.98**	(0.21)	1.07**	(0.24)				
ROW _{self} * BL	1.00** (0.27)		1.72* (0.20)					
ROW _{other} * BIAS=1 D ₄₁	0.25	(0.16)	1.27** (0.22)					
$ROW_{other} * BIAS=2 \beta_{42}$	0.39*	(0.17)	0.44** (0.15)					
	Actual	Hold-out	Actual	Hold-out				
Aver predicted u (b-1)	93.4	100.7*	87.5	101.7**				
Aver. predicted $u_R(0=1)$	(22.3)	(2.4)	(28.8)	(2.1)				
Aver predicted u (h=2)	86.2	91.8*	80.9	98.0**				
Aver. predicted $u_R(0-2)$	(23.8)	(3.4)	(26.9)	(2.2)				
16-21% Increase; Near Actual Payoff at b=0 (=100.9)								



